VAR n,minteger,
begin
readIn(n);

readln(m);

if (N*m) mod 2 = 0 then writeln((n*m) div 2) else writeln((n*m + 1) div 2);

end.

var n,l,k,m,ptinteger; label 1,

begin

readln(n);

readin(k);

pt:=0;

if k=2 then begin pt:=n div 7; goto 1; end;

if nmod 7 =0 then pt=ndiv 7 else pt=ndiv 7 +1;
1:WRITELN(pt);

end.



- var nomneminom2nNINZsting
o ecleznmeger

: LAbel 123

4 begin

- readin(nem]seadin(nomljreadinnema):

: if (lengtn(nam)=E) or (ength(nem)=S) then BEGIN

- FORi=11olength{nom) do begin

= it (romfil=1) OR (romfI<T) OR (nom{I=Z) OR (nom{]=4) OR (nom{i='S) OR (nem[i=8) OR (nom[}=7) OR(em[I=E) OR (nom[}=%) OR (nom[}=T) then m=n+1"

2 it (omfI=Q) OR (nomf=W) OR (nom[I=E) OR (nom[I=R) OR (nem[i=T) OR (nom[}="" OR (nomfI=U) OR (nom[]=T) OR (remf='0) OR (rom[I=F"} OR (nom[J="%) OR (nom[}="S") OR (rom[I=D) OR (nemfI=F) OR (nom[I=G’) OR (nemf=H) OR (romfl="T) OR {nom[I=K) OR (nom[I="L') OR (nomfl=Z) OR (nomf]=X) OR (rom[=C)
5 OR (nem[I=V) OR (nem(I=E"} OR (nemfi=N'} OR (nem{I=M) THEN n=n+4"

nd.

B111A8 then © =1
AAL1L then & =Z.
BALLLY then & =3
111144 then © =4
ND ELSE =0

(engtn(nem1)=) or (ength(nom1)=5) then BEGIN

R =1 to length(nami) do begin

(rom1[]="17 OR (nom1[]="Z) OR (nom1[}="%) OR (rom1[]='47 OR (nom1[J="S) OR (nom1[}='6) OR (rom1[}="T) OR(neMI[I=E) OR (nom1fI='%) OR (nom1[="0) then ni=n1+1"

(nem1[1=Q) OR (nem1f=W) OR (nem1fi=E) OR (neml[I=R) OR (nemlfl=T1OR (remifl=Y) OR (nemif=1) OR (nemifi=T) OR (neml[i='0) OR (nemlfl=F") OR (nem1[I=) OR (nemlfi="S) OR (nemi{l=D) OR (nemlfI=F) OR (nemlfi=') OR (nemlli=H) OR (nemlfl="7) OR (Nemifl='K) OR (nemifl=L} OR (nemifl=Z}
R (nem1fI=X) OR (nemifI=C) OR (nom1[]=V") OR (nom1[]=B) OR (nemIfI=H) OR (rom1[='M) THEN nl=nl+A’

nd:

“AL11AK then =1 =1,

“AALLL then c1=2

AA1111"then o1
111144 then £1 =4;
ND ELSE c1=0

(ngtn(nam2)=6) or (ength(nom2)=S) then BEGIN
R =1 to length(nom2) do begin

(rom2[}="1 OR (remZ[J=2) OR (nom2[="Z) OR (rom2[}='4) OR (nemZ[J=5) OR (nom2[=8) OR (rom2[}=T) OR(nom2[}="2) OR (rom2[}="F) OR (Tom2[=T) then nZ=n2+1"

(rom2[I=') OR (nom2[I=W) OR (rom2[}=E) OR (nom2f]=R) OR (nom2[I=T1 OR (nom2[]=Y) OR (nom2[1=U} OR (nom2[=T) OR (nomZ[]="0) OR (nom2[]=F"} OR (nom2[]="%) OR (rom2[}="S") OR (nem2[I=D") OR (nom2[=F) OR (nom2[]='G") OR (nom2[J=H) OR (nom2[]="7) OR (nom2[I=K) OR (nem2[I="L) OR (nom2[="7)
R (nem2[l=X) OR (nem2[i='C’) OR (nem2[1=") OR (nom2[I="E") OR (nem2[i=N’) OR (nom2[I='M) THEN nZ2=n2+4"

nd

NZ=A111A4" then c2 =1

N2=ARILL then o2 -
N2=AALL11" then c2 =2
NZ=1111AK" then c2 =4

I‘JAR 1,m,mlm2n,cclintegerb:string;
label 1;

- begin

2 read(n);

= m=0;

= ml=91;

7 m2=891;

= if (n=0) and (n<10) then begin writeln(n); goto 1; end;
o if (n>9) and (n<12) then begin for =1 to n-2 do begin
10 m=m+11; end;

writeln{m); goto 1; end;

|2 if (n>18) and (n<102) then begin for i=1 to n-18 do begin

12 if c=10 then begin m1=ml+11,c=0:end else m1l=m1+10; inc(c); end;

14 writeln(ml); goto 1; end,;

15 c=0;

|7 if (n>108) and (n<1002 ) then begin for i=1 to n-108 do begin

17 if c=10 then begin m2=m2+11;c=0end;

12 if c1=0800 then begin m2=m2+Zend;

if c1>800 then begin m2=m2+11;c:=0;end else begin m2=m2+110; inc{c);inc(cl); end; end;
20 writeln(m2), goto 1, end;

21 o=

22 1f (n>1008) and (n<10009 ) then begin for =1 to n-108 do begin

92 if c=10 then begin m2=m2+11,c=0;end else mZ==m2+111; inc{c); end,;
24 writeln(m2); goto 1, end,;

5 c=0;

o lend.
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